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What is XXXVIII?

7653 — 2653 =

1274 x 3 =

973 + 2754 =

What is the value of 5in 5677

1.2x10=
4? =
300+10+6=

What is XCIII?
17553 —9863 =
3764 x 3 =
1753 + 6835 =

What is the value of 5 in
158347

1.2 x100 =
82 =
600+ 70+ 8=

What is CCCXLII?
23735 —19463 =
7653 x 3 =
10873 + 8734 =

What is the value of 5 in
4560937

1.02 x 100 =
132 =
850+40+3 =
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What is XXXVIII? 38
7653 — 2653 = 5000
1274 x 3 = 3822
973 +2754=3727

What is the value of 5in 5677
5 hundreds (500)

1.2x10=12
4% =16
300+ 10+ 6=316

What is XCIII? 93
17553 -9863 = 7690
3764 x3=11292
1753 + 6835 = 8588

What is the value of 5 in
158347 5 thousands (5000)

1.2 x100=120
8% =64
600+ 70+ 8 =678

What is CCCXLII? 342
23735-19463 =4272
7653 x 3 =22959
10873 + 8734 = 19607

What is the value of 5 in
4560937 50 thousands
(50000)

1.02 x 100 = 102
13%=169
850+40+ 3 =893



